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In which one of th
' e following
first Maritime Indi i

from 14 1o 16 Apri?, Zl(l)T(;m?lt i
(A) Chenngi

(B) Visakhapatnam

(€) Mumbaj
(D) None of thee

Which of the following IS not trye

about the Cropping seasons in India?

(A) The Kharif S€3son spreads from
June till September.

The Rabi Season spreads from
October till March.
The Wheat crop is cultivated in

. Northern India during the Kharif
season,

(B)
(€)

(D)

The Zaid season spreads from
April till June.

Madhubani painting is famous in
which of the following state?
(A) Uttar Pradesh (B) Kerala

(C) Bihar (D) Rajasthan

During the freedom struggle, Aruna
Asaf Ali was a major woman
organizer of underground activity in
(A) Non-Cooperation Movement
(B) Civil Disobedience Movement
(C) Quit India Movement

(D) Swadeshi Movement

If a Panchayat is dissolvecj, elections
are to be held within

(A) 1month (B) 3 months
(C) 6 months (D) 1year

28,25,5,21,18,5,14, _,___

Complete the series.
(A) 11,5 (8) 10,7
(C) 11,8 (D) 5,10
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CMM, E00, Gaq,

M , KUU.
Fillin the blanks.

(A) GRR (B) Gss
(C) 1ss (D) ITT

Which word does not belong with
the others ?

(A) Branch
(C) Leaf

(B) Dirt
(D) Root

Sponge is to porous as rubber is to
(A) Massive (8) Solid
(C) Elastic (D) Inflexible

Five children are sitting in a row. S is
sitting next to P but not T. K is sitting
next to R who is sitting on the
extreme left and T is not sitting next
to K. Who are sitting adjacentto S ?
(A) KandP (B) RandP

(C) OnlyP (D) Pand T

If selling price is doubled, the profit
triples. Find the profit percent.
(A) 300% (B) 100%
(C) 316% (D) 120%

In a cricket team eleven, the average
age of eleven players is 28 years. Out
of these, the average ages of three
groups of three players each are
25 years, 28 years and 30 years. The
captain and the youngest player who
is 11 years younger than the captain
are not included in these groups. The
age of the captain is
(A) 33 years

(C) 35 years

(B) 34 years
(D) 36 years

10.

11.

12.

| KUU-
CMM, EOO, GQQ, _—

ERRESIEEARCE R
(A) GRR (B) GSS
(C) 155 (D) 17T

i ar area @ At A€ 8 7

st ey e @ frw @ AT e
U ¥ 7GR A
(A) =1

(C) wear

(8) @1
(D) T

tffﬁmi:wtiﬁiaﬁﬁ'c‘si’itsd??*’iﬁ
me&mi‘rq?'QTﬂ?fﬁﬁmmﬁ%RiﬁW
st & ot Fp il BR 0¥ doT E AN T K @
e e fer & 1§ ¥ Prareadi FHE €7
(A) K3fie (B) RalRP

(C) &ga P (D) P3RT

afe fam a1l & €1 S, 91 @
dF T Een & am @1 ufdva s
aifre

(A) 300%
(C) 316%

(B) 100%
(D) 120%

Rl fvre dm-114, uwe Rearfea)
@ s 9w 28 ad @ 1 R N e
Raanfeat & = gt UAT B sy
SH 2534, 28 A @en 3094 ¢ | BT
RN W e R R e /A

11aéiﬁa%.gqmmqﬁ%qwgl
T B I 2

(A) 3334 (B) 34 7§

(C) 35 (D) 36



131

14,

15,

16.

17.

18.

19,

20.

368

R‘ [y

educe == 46 the lowest terme,
974

30
_y 2
(A) 5o () 28
28 29
(€ = (D) ]_G
s 25
f L
Evaluate (.‘!_) !
64
) 2 (D) 2

A distern can be filled by a tap in
4 hqurs while it emptied by another
tap in 9 hours, |f both the taps are
opened simultaneously, then after

how much time cistern will get filled ?
(A) 7 hours

(B) 7.3 hours
(C) 7.2 hours
(D) None of these

Which amongst the following is
largest endocrine gland in the
body ?

(A) Thyroid
(C) Adrenal

(B) Parathyroid
(D) Pituitary

Now-a-days vyellow lamps are
frequently used ‘as street lights.
Which of the following gases is used
in these lamps ?
(A) Sodium

(C) Hydrogen

(B) Neon
(D). Nitrogen

A Group Ware is a
(A) Hardware
(C) Software

The noble gas used for the
treatment of cancer is

(A) Helium (B) Argon

(C) Krypton (D) Radon

PVC is used fdr the manufacture of
(A) Cosmetics
(8) Nonstick pans

(C) Tyres
(D) Plastic pipes

(B) Network
(D) Firmware
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Whichy MNCieny oty of |

Know :
Own g Satpadaman’ »
(A) ‘.\uni}ml

(B) Sohng
(€) Sirsy
(D)

aryana was

Safidon

AU which place
Shoes are m

(A) Ambala
(B) Panipat

(in Haryana) Liberty
anufactured ?

(C) Dharuhera
(D) Karnal

Which city of Haryana is well-known
as city of weavers ?

(A) Faridabad
(B) Panipat
(C) Karnal
(D) Sonipat

How many members are nominated
in Rajya Sabha from Haryana ?

(A) 2 (B) 4
(€) s (D) 7

In the memory of Chyavan Rishi, on
which hills a fair is held ?

(A) Morni hills
(B) Dhasi hills
(C) Satnalihills
(D) Dadari hills

Which king of Ballabhgarh was

martyred in independence war of
1857 ?

(A) Pratap Singh
(B) Vijay Singh
(C) Nahar Singh
(D) Mahavir Singh
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Recently the Pashudhan Bima Yojana

was i
H‘ launched by which Minister of
aryana Government &

(A) Vipul Goyal
(B) Manish Groyer
(€)' O.P. Dhankar
(D) Banwari af

Who s the current
Director of HSIIDC ?

(A) Sudhir Rajpal
(B) B}malRoy

(C) Sudhansy Chatterji
(D) None of these

Managing

In  Haryana, King Janmejay is
associated with the town

(A) Jind (B) Jhajjar
(C) Jagadhari (D) Safidon

In Haryana Government who holds
the ministry of Women and Child
Development, Information, Public
Relations and Cultural Affairs ?

(A) Vipul Goyal
(B) Manish Grover
(C) Kavita Jain
(D) None of these

How many administrative divisions
are there in Haryana ?

(A) 6 (B) 7

(C) 4 (D) 5 .

Who was the first State Poet of the
Haryana ?

(A) Liladhar

(BI) Udaybhan Hans

(C) Balmukund Gupt

(D) Tulsidas Sharma
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Boundary of

which  district  of
Hary

aha do not touch any other
Sate of India !

(A) Rohtak
(B) Rewari
(C) Bhiwani

(0) Yamunanagar

Who is known as ‘lron Man' of
Haryana ?

(A) Sardar Valiabh Bhai Patel
(B) DeviLal

(C) Bansi Lal

(D) None of these

Which district is formed at last ?
(A) Mewat

(B) Palwal

(C) Panchkula

(D) Kaithal

Birla Temple of Kurukshetra located
nearby which Sarovar ?

(A) Jyotisar

(B) Brahma Sarovar
(C) Ban Ganga

(D) Narkatari

Which of the following Is not 3
. division in Haryana ?

(A) Hisar
(8) Rohtak
(C} Gurgaon
(D) Karnal

Who considered Guru Jambeshwar is
Incarnation of Lard Shri Vishnu ? '

(A) Gujjor

(B) Ror

(C) Bishnoi :

(D) ‘None of these '
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What is the full-form of KmpP ?

(A) Kurukshetra-Manesar-Panipat

(B) Kurukshetra-Mahendragarh-
Panipat

(C) Kundli-Manesar-Palwal

(D) Kundli-Manesar-Pataudi

Rio Olympics bronze medalist Shakshi
Malik born on

(A) 3 September, 1992

(B) 4 August, 1990

(C) S March, 1992

(D) 6 December, 1991

Who guided Chandragupta Maurya to
become the ruler of Magadh ?

(A) Kautilya (B) Dhanananda
(C) Banabhatt (D) Porus

Which book did Greek ambassador
Megasthenes write ?

(A) The Republic

(B) In Light of India

(C) Indica

(D) The Wonder that was India

Which river orginates in the
Mansarovar region ?

(A) The Yamuna

(B) The Ganga

(C) The Brahmaputra.

(D) The Narmada

For which of the following mineral are
Singhbhum and Hazaribagh of Bihar
famous ?

(A) Copper
(C) Bauxite

(B) Coal
(D) Gold

Which was the first Indian state
formed on the linguistic basis ?

(A) Gujarat |
(B) Maharashtra

(C) Andhra Pradesh

(D) Punjab
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(}\) 31 ‘,'l"n,’s
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(B) 25 yoars
(D) 1y years
Which Five-Yoar Pl
Removal of Pover
objective ?
(A) Second
(C) Fourth

an had adopted

ty' s it foremost

(B) Third
(D) Sixth
During whase rule was the rupee
coin first minted in India ?

(A) Shahjahan

(B) Akbar

(C) Sher Shah Suri

() Alauddin Khilji

Name the Indian state which has
given most Nobel prize winners.
(A) Tamil Nadu (B) West Bengal
(C) Karnataka (D) Punjab

Where is the seat of the Madhya
Pradesh High Court located ?

(A) Indore (B) Bhopal

(C) Gwalior (D) labalpur

Name the first Indian to win the
Oscar Award.

(A} Bhanu Athaiya

(8) Rohini Hattangadi

(C} Seemaz Biswas

(D) Shekhar Kapoor

Who was the fiest Indian Managing
Director of the World Bank ?

(A) Azim Prem)i

(8) Gautam Kaji

(C) Narayan Murthi

(D) Manmohan Singh

in which year were the first general
elections held In India ?

(A) 1951-52

(8] 1953.54

(C) 194250

{D} None of these
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When

wag / |
s M Mahatima Gandhy
(A) ].‘Illlldl\' 30, 1948
(R) I.mu'.ny 20, 1949
() Nm-vmlm 10, 1949
(0 Octobyey 2, 1940
N which ea ) '
s Bk “m:vle Was  the United
(\) 1920 (8) 1939
(C) 1945 (D) 1‘352

In  which

Year did the ¢
Revolution take place ; rench
W) 1773 (B) 1783

What are the irnaginary lines paraljal
to the equator called ?
(A) Latitudes

(B) Longitudes
(C) Isobars

(D) 1sotherms
Kangaroo is the National emblem of
which country ?
(A) Canada

(B) Italy
(C) Ireland

(D) Australia

In which year did India become a
member of the UN ?

(A) 1945
(C) 1950

(B) 1947
(D) 1951

Who founded the Red Cross ?
(A) Florence Nightingale

(B) Henry Dunant

(C) Helen Keller

(D} Mother Teresa

Through which organ does a fish respire ?
{A) Nose (B) Lungs
(C) Gills (D) Fins

Which lenses are used by people
having short-sightedness ?

(A) Convex

(B) Concave

(C) Concavo-convex

(D) Plain
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Who was the tirst Indi
Century in test cricket 2
AL Lala Amarmath

(B) Vijay Hazare

(C) Vijay Merchamt
(0) C K Nayudu

an o score a

Who started the anciemt Olympic
Games ?

(A) the Romans  (B) the Greeks
(C) the Egyptians (D) the Turks

Of which country is Baku the capital ?
(A) Ukraine (B) Kazakhstan
(C) Azerbaijan (D) None of these

The Kargil Vijay Diwas is observed
every year on
(A} 23 July
(C) 25 July

(B) 24 july
(D) 26 July

India’s first underground museum will
be opened in which of the following
cities ? .

(A) Jaipur (B) New Delhi
(C) Ahmedabad (D) Patna

PM Narendra Modi released a theme
song for Tiranga Yatra to be organised
from 16™ to 23" August. to mark 70
years of Independence Day. The
theme song “70 Saal Azadi Yaad Karo
Kurbani” has been composed by

(A) Gulzar

(8) Javed Akhtar -

(C) Bhimrao Panchal

(C) Ghazal Srinivas

Pema FKhandu sworn in as Chief
Minister of Arunachal Pradesh on

(A) 17" July, 2016

(8) 10" August, 2016

(€) 17" June, 2016

(D) None of these

In which cauntry Rig Olympic Games.
2016 were hold ?

(A) India

8) )
() Brani %1 lspmn

(D) 1taly
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If the first ang
Sequence g 9 8
Il?ll‘rth&ﬂ}‘,t‘{f,
digits, the fift)
on, which
: Bt would | E seve

(c»;))unlmz’. 10 your lcfltl;‘ e
(C) 7 (0) 8

second digits in the
1327438 are
A0 the third and fourth
vand sixth digits and so

i;‘:”"‘? N3 row in front of a camera,
sitt: A5 0n the left of the person
! llng In the center but is on the
&Srﬂzof Mr Y. Mr. Pis on the right of
Vs : and M". R is on the right of

- P. Mr. R is the second person
from the person sitting in the center,

Who is the e Saed ;
center ? person sitting in the
A) Mr. X 8) Mr.y
(C) Mr.z (D) Mr. R

Choose the correct alternative.
Poodle : Dog : : Moose : ?

(A) Duck (8) Donkey
(C) Fowl (D) Deer

In the following four words, three are
alike in some manner and the fourth
one is different. Choose out the odd
one.

(A) Akbar

(B) Jahangir

(C) Shah Jahan

(D) Vikramaditya

Choose the missing term out of the
given alternatives.
Cax, F9U, I16R, ?
(A) K25P

(C) L250

kman has 20 litres of milk. He
s of water, which is
in 20 litres of pure
s ¥ 18

(B) L25P
(D) L27P

A mil
mixes 5 litre

freely availahble, s 0
f the cost of pure milk i

53
mirl'k litre, then the profit of the
r‘i:lkman' when he sells all the
mixture at cost price, is .
(8) 25
A) 20%
:C)) 33.33% (D) 18%
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(A) @
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Frefrfae e wa) & o feei wrew F
| 39 3T

(B) T
(D) favmr

CHITART £ g dan T E
O[T AU e |
(A) g

(C) wrmeargi

(B) SrEri
(D) Rm=niowy

feg au Raeul § @ oW g @ wuH
@i

C4X, FU, I16R, ?
(A) K25P

(C) L250

(B) L25P
(D) L27p

Wil g6 AT @ v 20 e gu § )
qe W20 fdeR g qu N 5 fre R1G|
Bt &, i s N qusa ¥ ) ufe U
i%}l B A g ufy fares 2. @ {;x;kui
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(A) 20%

(C) 33,33%

(B) 25%
(D) 18%
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77.

78.

75.

80.

81.

82.

83.

85.
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One of the two buses completes a
fourney of 300 km in 15/2 hrs, and
the other a journey of 450 km in 10
hrs. Find the ratio of their averape
speeds.

(A) 4:5
(C) 8:9

(B) 9:8
(D) 5:4

The HCF of two numbers Is 23 and
other two factors of their LCM are 13
and 14, The larger of the two
numbers is

(A) 276 (8) 299

(C) 322 (D) 345

Three times the first of the three
consecutive odd integers is 3 more
than twice the third. The third
integer is
(A) @
(€) 13

(B) 11
(D) 1S

Sum of a rational number and its
reciprocal is 13/6. Find the number.
(A) 2 (8) 3/2

(C) 4/2 (D) S/2

Alfred Nobel is associated with the
invention of
(A) Cosmic rays
(C) Dynamo

(8) Dynamite
(D) Penicillin

Banking of curves on roads or railway
tracks is done to provide

(A) Centripetal force

(8) Centrifugal force

(C) Centrifugal acceleration

(D) Angular velocity

Diamond is the
carbon.

(A) Crystalline (8) Amorphous
(C) Chemical (D) Alkaline

Which of the following gases do

plants and trees give out during
Photosynthesis ?

(A) Hydrogen

(B) Nitrogen

(C) Oxygen

(D) both (A) and (B)

Food is normally digested in the
(A) Liver

(8) Stomach
(C) Smallintestines
(D) Large intestines

form of

77.

78.

79.

80.

81.

82.

83.

84.

85.
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16/2 V00 YN e v e 538l 450

fl @) a0 vie g gy & sl
AT AATE BT ST40T apegag gy g
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(C) 8:9 (D) 5:4

AL UEABR B 8 AWH 92 g 3w
L b 3 ) VT 17 e 14 B3
'f."I A2 A 0 it e '

(A) 276 (B) 299
(C) 322 (D) 245

i s fen goite wwanat § R
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(A) 9 (8) 11

(C) 13 (D) 15

U g T AR S g B A1
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(A) 2
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(D) 5/2

UEhs Alda 1 Waw fpud snfassr 48 ?

(A) @I fueo
(C) =1g=ns

(B) wBrmERTE2
(D) afaffee
REIR NG U NI SR o o IR o0 C R
T e 3 forg R sinn &2

(A) sfhaediaa (B) audEl aw
(€) e awy (D) @i dm

ENE B WO
(A) fvedu
(C) . i

¥R
(B) mfwvediu
(D) sty

ORI vaTY @t frm & ST uie e

g @l A g g s €7
(A) ErEglo

(B) “hrgeiard

(C) afianiia

(D) (A) st (B) @1

S AT UERT &

(A) ferav 3

(B) spnva i

(C) a3 R

(D) @ 3=



86.

87.

88.

89.

90.

91.
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ENGLISH LANGU AGE

Find the correctly spe
(A) octouonernrian |
(B) Centenarian

(C) Propreitor

(D) IMatyer

It word -

Fill in the bl
Prepositions .
Suddenly she turneg away

€ window and
3
glass. ho.

(A) from: to
(C) off; near

anks with appropriate

SRS,

(B) from; before
(D) with; to
Choose the word th

:?eisrr::an;ng of the underlined word -
€ Jirst time the painti

been Q|sgla1ed to the pu‘t’:lilcn. Epies
(A) gwe'n (B) distributed
(C) exhibited (D) refused

at best expresses

Select the substitution that best
expresses opposite meaning of the
underh_ned word :

A conceited person is seldom liked.
(A) poor (B) lonely
(C) humble (D) scholarly

Choose an alternative which can replace
the given words or sentence so as to
communicate the same meaning.

A place where neither grass nor
trees grow.
(A) fertile
(C) barren
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W qu e ?
(A) wifora

(B) rough
(D) hard
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